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9T e 85 N—EZ—EIR 37 39 39 37 152
9T #5625 A% FELAHOY 35 41 38 38 152
9T TEFZ KHIYT T 39 36 39 38 152
9T INE SERE HHAY-N 37 36 40 39 152
16T MHE Bz LHOH 38 43 35 37 153
16T 5K Feah LHOH 40 38 38 37 153
16T =l X8 LHOH 37 40 40 36 153
16T AE BH— FEEHIY 38 37 40 38 153
20T Al EE LHOH 37 41 39 37 154
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20T BRI EE E1GC 36 40 40 38 154
20T [HHE 35 TEE 37 39 38 40 154
20T O F= NE=—LILA 37 38 36 43 154
25 EL i#h E2X7-V 38 40 39 38 155
26T e = FEELEHIY 36 43 42 35 156
26T NI —E T 42 37 39 38 156
26T Al ER FELAHOY 41 38 38 39 156
26T Z Be BRI D & 38 41 37 40 156
26T 28 & [ZENIY S 38 40 41 37 156
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26T TE FHt LH0H 39 39 38 40 156
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et BEEEX T£E 40 40 41 37 158
BE® 1%k & E1GC 40 39 40 39 158
AR Bl BE FELHIY 41 41 38 39 159
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AR BE — =1GC 38 43 41 37 159
B7E® TEE:] RBAID % 39 42 38 40 159
45T HiZE 2= =2t7-V 43 36 40 40 159
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66T & ihE FEEHOY 41 38 41 44 164
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3 INE SERE BHHAY-M 37 36 73
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39T NI —E T 42 37 79
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39T eSS FELHOY 41 38 79
39T HE = =2tx7-V 43 36 79
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39T KiE WX REFID Fx 38 41 79
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47T XB 1817 T 41 39 80
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47T BE IlE— A D % 40 40 80
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54T FESF X TEE 40 41 81
54T e E1GC 38 43 81
54T HHE i EEN0Y S 38 43 81
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54T T EENY S 39 42 81
54T )l B4 27—V 41 40 81
54T AR H— FELHIY 41 40 81
54T SRNEES i 39 42 81
54T BEtE S — E1GC 38 43 81
66T {£ & BF £H0H 43 39 82
66T A EX NE-—ENR 42 40 82
66T =V IRES i 42 40 82
66T JIIX BE £H0H 43 39 82
66T #EHT FOA FELHIY 41 41 82
66T BESR EENOY S 37 45 82
66T EHEZ T£E 42 40 82
66T INFF X i 40 42 82
66T IR EE RBF D F% 41 41 82
66T #i& 55 RBF1 D 7% 39 43 82
66T BEAR X BHAY-M 41 41 82
66T EIf 8B FELHOY 41 41 82
66T EHEE RBFID Fx 39 43 82
79T BEAE =58 RBF1 D 7% 41 42 83
79T FTHBEA RBF D F% 42 41 83
79T =28 RE L£H00 40 43 83
79T HXL 5BH NE_—ELR 44 39 83
79T B #5% i 44 39 83
79T B0 B N—E=—ELR 40 43 83
79T INR EFD =27y 44 39 83
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88T £F BT RBFID Fx 39 45 84
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88T A BXRX KAIYT NI 41 43 84
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96T EX:=RE RBFID Fx 42 43 85
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96T R &= i 42 43 85
96T 2% £X FELHAIY 40 45 85
96T ET = LHOH 45 40 85
101T FENEAE] i 41 45 86
101T =B B REF0 D 7% 41 45 86
101T T8 EE FELHOY 44 42 86
101T L#E HE £H0D 41 45 86
101T A+ BH T 41 45 86
101T B &RA E1GC 44 42 86
101T FK 5% E1+GC 42 44 86
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